Module 5 Lesson 2 Part 2 Assignment Name:

Simplify. Assume that no denominator is equal to zero.
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28) A lab technician draws a sample of blood. A cubic millimeter of the blood contains 223
white blood cells and 22> red blood cells. What is the ratio of white blood cells to red
blood cells?

29) The number of three-letter “words” that can be formed with the English alphabet is 263.
The number of five-letter “words” that can be formed is 26°. How many times more
five-letter “words” can be formed than three-letter “words”?



